normalized X?

1377

0.7293

1.031

§=] RS
g 1k
o2
1&1"7“‘?". AR R A A
O 2 S
0 2 4 6 8 101214161820

XZ

[[norm

alized x° probability ]

0.045f

0.04
0.035

0.03f--

R

il \|||‘ mn \ll |||‘
040 .6 0.7 0. . l
Prob(xz)

——

m=m== DQM_original_step2_tthar-phasel-newgeom
mmemm DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

wmm—= DQM_pixelCPETemplateCutChiSquareNew_step2_tthar-phasel-newgeom

< X2/ ndf >

=

——

Ratio

< X2/ ndf >

Ratio

< X2/ ndf >
P
00

i
T T[T [T [T T I [T TIT T

Ratio

1 -1
AR(track, jetg)



	Contents
	Page 1


